(RIEPA vi )

A5.6) LD . ROBUSKAW-TH], k&5 LRTX B,

o1, :%(OEI .Ol, +OE, —2) -~(d6.1)
d5.12) 1D . ROBERAR T ], L 52 LRTED,

o1

Ol, :E(OEl -OI, —OE, +2) -(d.6.2)
(d.6.1)(d.6.2) 1 v
o1, -ot, :%(OEl .0, +OE, —2)—%(0131 .Ol, ~OE, +2) -+(d.6.3)
d.63) LD
C

OI, -0I, :50E1(013—OI4)+OE1—2 -++(d.6.4)

(d.2.20)(d.6.4) 5 1

o1, —ot, :%OEI ‘OE, +OE, =2 -+(d.6.5)
(d.1.14)(d.6.5) 5 1

o1, -ot, :%-4+OE1 L2 (d6.6)
(d.6.6) 5

OI, —OI, =O0E, -(d.6.7)

(d.6.1)(d.6.2) L ¥
o1, .01, :%(OEI .0l, +OE, —2)-%(0151 .Ol, ~OE, +2) -+(d.6.8)
(d.6.8) XV
011' -012' :%OElz -0l, -Ol, +%OE1 (- OE, +2)(0l, -OI, )—i(—OEI +2)°

-+(d.6.9)
(d.2.20)(d.2.22)(d.6.9) £ ¥

1 1

oI, -0I, :ZOE12-1+ZOE1(—OE1+2)OE2—%(—OE1+2)2 +(d.6.10)

(d.6.10) % Y
oI, -0l, :%OEI-OEz(—OE1+2)+OE1—1 ~(d.6.11)

(d.1.14)(d.6.11) L ¥



o1, .01, :%-4(—0151 12)40E, -1 (d6.12)
d6.12) L
Ol, -0l =1 -(d6.13)
(d2.7)(d.6.7) LV
Ol, —0L, =OI, —0l, (d6.14)
(d.2.9)(d.6.13) 5 1
Ol, .01, =OI,-0l, -+(d6.15)
FHRICE D
(011 o1, )(011 ror, ): o1,> —(011' —o1, )011 _01, .01, d6.16)
(d.6.14)(d.6.15)(d.6.16) L 1
(011 o1, )(011 ror, ): Ol1,> —(0I, —01, )OI, —OI, -Ol, -+(d.6.17)

d6.17) LV

(011 -0l )(011 +0I, ):0 ~(d.6.18)
OI, >0, Ol, >0V

OI +OL, >0 -(d6.19)
(d.6.18)(d.6.19) L 1

Ol, —OI, =0 (d620)
(d.6.20) 1 ¥

Ol, =0I, (621
(d.6.1)(d.6.21) L ¥

oI, :%(OEI -OI, +OE, —2) -+(d.6.22)
(d.6.14)(d.6.21) L 1

Ol, —Ol, =OI, —OI, -(d.6.23)

(d.6.23) L0

!

O, =OI, -+(d.6.24)



(d.6.2)(d.6.24) L v

Ol, :%(OEI -OI, —OE, +2) --+(d.6.25)

A513) LY . KOBRR AT AL, &L 52 LRTED,

Ol, :%(OEz -Ol, +OE, +2) --+(d.6.26)
(d.5.19) 80 ROFFRRZ 2T R, &5 LR TE D,
oI, :%(OE2-011—0E2—2) -++(d.6.27)
(d.6.26)(d.6.27) L v
oI, -0I, :%(OEz -0l + OE, +2)—%(OE2 -Ol, —OE, —=2) --+(d.6.28)

(d.6.28) L D

o1, oI, :—%OEZ (OI, —OL, )+ OE, +2 (d.6.29)
(d.2.7)(d.6.29) % 1

oI, oI, :—%OEZ "OE, +OE, +2 -+(d.630)

(d.1.14)(d.6.30) L »

oI, oI, :—%-4+OE2 12 (d631)
@631 LD
Ol, —Ol, =OE, -(d632)
(d.6.26)(d.6.27) 5 1
o1, -o1, :%(OEZ .0l +OE, +2)%(OE2 .Ol, —OE, —2) -+(d.6.33)

(d.6.33) %V
01, -0I, :%OEfOIl -0I, +%OE2 (OE, +2)(0I, - 01, )—%(OEZ +2)°
-+(d.6.34)
(d.2.7)(d.2.9)(d.6.34) L v

1 1

oI, -Ol, :ZOE22-1+ZOE2(OE2+2)OE1—%(OE2+2)2 ~(d.6.35)

(d.6.35) %0

Ol, -OI, :%0E1-0E2(OE2+2)—OE2—1 -++(d.6.36)



(d.1.14)(d.6.36) L 1

o1, -o1, :%-4(OE2 12)=OE, -1 -(d.6.37)
d.637) LD

Ol, -OI, =1 -+(d.638)

(d.2.20)(d.6.32) L »

Ol, —Ol, =OI, ~Ol, -+(d.639)
(d.2.22)(d.6.38) L 1

Ol, -0I, =Ol, -Ol, -+(d.640)
FHEICELDY

(013 —ol, )(013 +ol, )= o1,’ —(013' o1, )013 01, -Ol, -(d641)
(d.6.39)(d.6.40)(d.6.41) kb

(013 —ol, )(013 +ol, )= 01, —(Ol, — 01, )OL, —Ol, -OI, -+(d.6.42)

(d.6.42) LV

(013 -0l, )(013 +0I, )=0 ~(d.6.43)
Ol, >0, OI, >0V

OL, +01I, >0 --(d644)
(d.6.43)(d.6.44) L 1
OI, ~Ol, =0 -+(d.645)
(d.6.45) LV
O, =Ol, -(d.646)
(d.6.26)(d.6.46) L 1
Ol, :%(OEZ -Ol, +OE, +2) --(d.6.47)
(d.6.39)(d.6.46) L 1
OI, —OlI, =OI, —Ol, -(d648)

(d.6.48) L ¥



Ol, =OI, ++(d.6.49)
(d.6.27)(d.6.49) L v

Ol, :%(OEZ -OI, -OE, —=2) --+(d.6.50)
(d232)k Y

O1,> +20I, —4=(1-0E, -OI, )+20I, -4 - (d.6.51)
(d.6.51)% Y

01, +20I, —4=-0E, -OI, +20I, -3 -(d.6.52)
(d.6.47)(d.6.52) L v

O1,” +20I, —4=-0E, -OI, +(OE, -OI, +OE, +2)-3
(d.6.53) %V

01, +20I, —4=0I,(OE, —OE, )+ OE, -1 -(d.6.54)
(d.1.12)(d.6.54) L v

O1,> +20I, —4=0I, -1+(OE, +1)—=1 -(d.6.55)
(d.6.55) %

01, +20I, —4=0I, + OE, -+ (d.6.56)
(d.2.7)(d.6.56) L v

01,> +20I, —4=0I, -+(d.6.57)
(d.6.57) %V

OI, =0OI,” +20I, —4 -(d.6.58)
(d229) kY

~01I,> +20I, +4=—(OE, -OI, +1)+20I, +4 -(d.6.59)
(d.6.59) % v

—0I,> +20I, +4=-0E, -OI, +20I, +3 --(d.6.60)
(d.6.50)(d.6.60)

~0I,” +201, +4=-0E, -OI, +(OE, -OI, —OE, —2)+3

(d.6.61) LV

~(d.6.53)

-(d.6.61)



~01,> +20I, +4=0I,(OE, —OE, )-OE, +1 (d.6.62)
(d.1.12)(d.6.62) L v

~0I,> +20I, +4=0I, -1-(OE, +1)+1 -(d.6.63)
(d.6.63) %V

—0I,> +20I, +4=0I, —OE, -+(d.6.64)
(d.2.7)(d.6.64) L v

~01I,> +20I, +4=0I, - (d.6.65)
(d.6.65) %V

OI, =-O0I,” +20I, +4 -(d.6.66)
(d.2.38) kv

~01I,> =201, +4=—(1-0E, -OI, )-20I, +4 -(d.6.67)
(d.6.67) %V

~01I,> =201, +4=0E, -OI, =201, +3 -(d.6.68)
(d.6.25)(d.6.68) L ¥

~01I,> —20I, +4=0E, -OI, —(OE, -OI, —OE, +2)+3
(d.6.69) % v

~01,> -20I, +4=0I, (OE, —OE, )+ OE, +1 -(d.6.70)
(d.1.12)(d.6.70) L v

~01I,> =201, +4=0I, -1+ (0OE, —1)+1 -(d.6.71)
(d.6.71) kY

~01I,> =201, +4=0I, +OE, -+(d.6.72)
(d.2.20)(d.6.72) L v

~01,> =201, +4=0I, - (d.6.73)
(d.6.73) kv

O, =-0I,” =201, +4 -(d.6.74)

d2.35) %0

~+(d.6.69)



01, =201, -4 =(OE, -OI, +1)-201I, -4 -(d.6.75)

(d.6.75) L

01,” =201, -4=0E,

(d.6.22)(d.6.76) L »

01,” =201, -4=0E, -OI, —(OE, -OI, + OE, —2)-3

d.6.77) LV

01, -201, -4 =01, (OE, —OE, )—OE, =1 -+(d.6.78)

(d.1.12)(d.6.78) L »

01, =201, -4=01, -1-(OE, —=1)-1 -+(d.6.79)

(d.6.79) % v

01,” =201, -4 =01,
(d.2.20)(d.6.80) = v

01, =201, -4=0I,
(d.6.81) %Y

OlI, =0I,” -201, -4

.0l, =201, -3

—OE, -(d.6.80)

-(d.6.81)

-+(d.6.82)

~(d.6.76)

~(d.6.77)



